BNHROTHILUNL - %—

H fEith X 2024$ 45 SFI6E remu126smanoms
H H X KX X = -

Ny NS TS

T 8 2219 Zz[10 23|11 22|12 25|13
(% 2B

14 15 2%(16 2517 25|18 Z5(19 2% 20
n N

21 22 75(23 75|24 75|25 5|26 25|27
e 2B

28 29 72130 2%




BNHROTHILUNL - %—

H fEith X 2024$ 55 SFI6E remu126smanoms

B A XK | K | X | £ | x
T (2 %53 B[4
. CH CH CH
5|6 |7 3|8 %[0 B10 %1
12 |13 ZZ(14 22|15 25|16 25|17 25|18
19 (20 2%|21 25|22 25|23 25|24 25|25
26 |27 Z%|28 23|29 Z%|30 2% |31 23




BNHROTHILUNL - %—

H fEith X 2024$ 65 SFI6E remu126smanoms

= A K| K | KX | & 1:I:
) |3 455 56 5758
o110 %811 5512 22/ 13 7514 %515
RIELE: 19 7520 7521 7522
7526 7525 75|26 (07 (28 08
e .




BNHROTHILUNL - %—

H fEith X 2024$ 75 SFI6E remu126smanoms

H A X K 7/ s T
R T
TR 17 718 75[19 75|20
T (22 7523 75 24 7525 7 26 |27
529 =30 T8




BNHROTHILUNL - %—

H fEith X 2024$ 85 SFI6E remu126smanoms
H A X | K | X | & | &
BHPEHE
CH CH
¢ 5 6 BT 8 |9 BN
11 12 22113 2%|14 2Z|15 25|16 2%|17
18 19 22120 2%|21 2%(22 25|23 25|24
25 |26 Z%|27 7%|28 Z%|29 7%(30 2% 31




BNHROTHILUNL - %—

H fEith X 2024$ gﬁ SFI6E remu126smanoms

H A X K 7/ s T
50 %10 %5 1 %512 |13 %1
RN 18 719 72(20 221
7733 724 75| 25 7526 75127 %08
29 30 7% -




BNHROTHILUNL - %—

ARt X 20244 1 Oﬁ SFI6E remu126smanoms
H H X KX X = -
1 o] % o] % o] % 4 o] % 5
CH CH CH CH
MO BEW
6 7T 2% 8 2219 ZZ(10 22|11 2|12
hy 2B
13 14 25115 25|16 25|17 Z5(18 25|19
gii e
20 |21 T%122 %123 7|24 %25 7%|26
hy 2B
27 |28 73|29 27|30 2% |31 Z&

Er




BNHROTHILUNL - %—

M Rt X 20244 115 SHI6E remn1 2 65@an o,

H A x 7K 7/ N -
R
3 |4 |5 g T 7 T g T g
10 11 72112 2%113 Z%(14 Z%|15 Z%|16
17 118 72[19 78|20 22|21 2%(22 7223
20 |25 7% |26 7%|97 (08 (g T8 (30




BNHROTHILUNL - %—

H Rtk X 2024$ 1 25 SHIOE rema12esminvoms,
H H X KX X = -

Ny NS TS

8 9 22110 ZZ |11 2512 ZZ(13 25|14
(% 2B

15 |16 25|17 Z5(18 25|19 25|20 Z%| 21

22 3 25|24 25|25 23|26 25|27 25|28
(% 2B

29 30 2%|31 2%




BNHROTHILUNL - %—

H fEith X 2025$ 1 ﬁ SHITE remu126smanoms,

H = X K 7/ N £ +
1 2 3 4
516 |7 8 %9 =10 &1
7 E 15 7516 28(17 8|18
020 75 21 7 22 7% 25 7 04 |35
627 75|28 %20 530 %5 31 %




BNHROTHILUNL - %—

H fEith X 2025$ 25 SHITE remu126smanoms,

H = X K 7/ £ +
1
2 3 754 %55 756 5|7 556
9 10 22111 25112 2513 25|14 25|15
16 17 25118 2519 25|20 2%5(21 25|22
23 |24 %125 7%|26 7|27 7% |28 %




BNHROTHILUNL - %—

H fEith X 2025$ 35 SHITE remu126smanoms,

= A K| K | KX | & 1:I:
) |3 T[4 55 56 m 758
o110 %8 11 5512 2213 7514 %515
RIELE: 19 75120 %521 7|22
7526 7525 75|26 (07 (28 08
30 ; s -




